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Chapter : Data Interpretation

Direction: - (1-4)

The table below represents the cost, revenue and
tax rate for XYZ Limited for a period of 8 years.
Cost and revenue are given in Rs ‘000 crores.

A oY 1§ arferer & Xyzfaf@es iy sauf framae &
T AT, TSTEAT TUT T Y T Y ? AT | AT A>T
T ‘000FT T &Y 71E B

Year|Revenue|Cost [Tax rate
T§ (e Fa  [ARTd[@T el

Y1 [800 600 [20%
Y2 {1100 850 [|22%
Y3 |1200 900 |22%
Y4 11200 950 [25%
Y5 1350 105030%
Y6 |1500 1200 (30%
Y7 11600 1240(33%

Y8 (1850 1400 (15%

Profit for any year= revenue-cost
TRt o &1 Ao = TSTE-oIaT
Profit after tax for any year = Profit of that year — tax
of that year
Tt o & fIT & & a1 T o1 = 30 9 &l ofleT - 39
Y T FT
Tax on any year = tax rate of that yearx Profit of the
year
R I &7 P =37 IV & I $T &I x 3T Y T oreT
(1) How much tax (in Rs ‘000 crores) was paid by
XYZ limited in Y7?
Y7 & XyZ faftes F fraem 3 sfarar (1000 T3 TH)
frar &2
SSCCGLO8AUG-S3 : 72
(a) 90 (b) 99 (c) 118.8

(d) 126

(2) Which of the following is correct about profit after
tax for year Y2, Y6 and Y8?

Y2, Y6 AT Y8 A & forw &Y & dT¢ oTeT o IR 3 et T
I T E?
SSCCGLOSAUG-S3 : 73
(@) Y8 > Y6 =Y2

() Y8 > Y6 >Y2

(b) Y6 > Y2 > Y8
(d) Y6 =Y8 > Y2

©)
How many distinct values of yearly profit are there?
a1fer @imer hr RY & 3rerer 3rereT fohciat ATT &7
SSCCGLOBAUG-S3 : 74
@©5
(d) 6

(4) What is the total sum (in ‘000 crores) of profit
after tax for Y1 to Y8?
Y1 @ Y8 T HT & F1g aTel wITeT T Foel TN (000 FA
) fraet &2
SSCCGLO8AUG-S3 : 75
(a) 1763.6 (b) 1803.2 (c) 1820.2

(d) 18724

Direction: - (5-8)

The table given below shows the ratio of exports and
imports of a country for 5 years.

Total trade=exports + imports

Y &Y 18 Tt 7 Teh 2 & 538 & AT auT 3maa
o 37Tl i gl I g

smczqu=34rmr-r+ﬁa‘k—-r
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Year Exports : Imports
ag ot s
Year 1 /a9 1 10:9
Year2 /a9 2 5 s 4
Year3/ag 3 4:3
Year 4 /a9 4 5:8
Year5 /a9 5 12:13

(5) If the total trade of the country in year 3 was 1183
crore dollars, then what was the difference (in crore
dollars) between exports and imports of the country
in that year?
e &2 1 aY 3 H Fof SATIR 1183 TS SleR T, AT 340
I 2T o AT AT AT 3 1 &7 3T (FR13 SoR H)
EGGIRIK
SSCCGL10AUG-S1:72
(a) 169 (b) 173
(d) 158

(c) 142

(6) The total trade for Year 2 and Year 4 is same. If
exports of Year 4 are 315 crore dollars, then what are
the imports (in crore dollars) of Year 27?

ay 2 AT I 4 1 Pool SATIR FHI 8| ATe; a¥ 4 &I

1T 315 FRIS STeR &, Al I 2 Tl ITATT (FRIS TR H)
fohde 87
SSCCGL10AUG-S1: 73

(a) 3064 (b) 309.8
(d) 318.5

(c) 323.7

(7) Total trade of Year 1 is twice of the total trade of
Year 5. If total trade of Year 1 is 5700 crore dollars,
then what is the difference (in crore dollars) in exports
of Year 1 and Year 5?
a1 T Gl SATIR T 5 & ool SATIR T ST §1 I
ay 1 T el IR 5700 I3 SToR &, T Iy 1 qATa¥ 5
& fAaTd # fhd=T 3a} (U3 3Ter #) gem?
SSCCGL10AUG-S1: 74
(a) 1835 (b) 1632
(d) 1423

(c) 1368

(8) The total trade of 5 years is 3800, 3600, 2800, 3900
and 5000 crore dollars respectively. What is the
difference (in crore dollars) in the average exports and
average imports respectively?

5 aw‘fargw»raammr: 3800, 3600, 2800, 3900 AT
5000 313 STeR & | AT Hrade frard aor dade

3T & =T 37X (R STk &) &7

SSCCGL10AUG-S1 :

75

(a) 60 (b) —60

(d) 120

Direction: - (9-12)
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The table below shows the distribution of number of
people living in 8 different countries and the per
capita income of each of the countries. The total
population of these countries taken together is 200

crores.

Per capita income= total GDP of country/population

of the country

Y & 718 i 7 8 AT LM A WA aTr AT

ToaRoT T2m @i g2 i ufa cafed s A gear g
[B5T ST T Tl SAAEEAT 200 TR |
ST ATt 3T = 227 T el Feve! B UG
(STr3r.dh)/e=r r STAEEar

Country / &

Distribution of
number of people

wre # fRaver

Per capita income
(in crore dollars) |

fa «afea g
(F0F e )

Country 1 /28211 12% 11850
Country 2 /8312 24% 5350

Country 3 /32 3 15% 9900

Country 4 /331 4 17% 4840

Country 5/ 2U5 7% 2260

Country 6 /3216 6% 6920

Country 7 /3217 11% 3190
Country 8 /278 8% 10410

(9) What is the difference (in crores) in population of
the most and the least populated country?

TSN 31T TAT G FH TAGEIT aTer 320 & &
FAATEIT H FraT 37aT (F08 7) &7
SSCCGLO8SAUG-S2 : 72
(a) 18 (b) 32 (c) 34

(d) 36

(10) What is the total GDP (in crore dollars) of country

57

&=T 5 T el Hehol B[ 3cUTE (M. 3. 91 (03 STer &)

fohder 87

SSCCGLO8BAUG-S2:73

(@) 27120 (b) 31640
(d) 44660

(c) 38280

(11) What is the total GDP (in crore dollars) for the
country with the third lowest per capita income?
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A TR A G A 3 arel 237 T Fool Tehol
B 301G (S 31 ) (W08 STer #) farcter 87
SSCCGLO8SAUG-S2 : 74

(a) 181900
(c) 145200

(b) 108460
(d) 164560

(12) Which country has the highest total GDP?

Ty 2T BT oot Thel TS 3cUTE; (. 3. ) T 31
87

SSCCGLO8AUG-S2 : 75
(a) Country 1/S2T 1

2
(c) Country 3/2T 3
8

(b) Country 2/&2T

(d) Country 8/2r

Direction: - (13-16)

The table given below represents the amount of
education loan (in crores) disbursed by 5 blanks of a
country overb years.

A &y 918 anforenr & U 21 o 5 SRt garT 5 af #F e
& forv faaRa fore 1T =goT (31T #) T g2iTar =T B

Year

Amount of education loan disbursed (in crq

fan & fow faRa Ko r i (@2 4

a¥ | Bank 1

Bank 4
da4

Bank 2
d61 | da2

Bank 3
d63

Ba
d

2010 265 65 138 109

2011 295 118 165 123

2012| 317 85 195 125

2013 | 323 103 178 142

2014 | 352 122 211 157

(13) What is the percentage increase in education
loan disbursed by Bank 2 from 2010 to 2014?

2010 & 2014 A o 2 F garT R8T & fore faafka ot
# fohciet gfavia A i gs &2

SSCCGL11AUG-S3 : 72

(a) 85.42 (b) 87.69
(d) 83.18

(c) 89.21

(14) Which banks show a continuous trend of
increase/decrease in loan amount disbursed over 5
years?

T Sept 2B Ry 07 2B IR 3 5 e FoRe gafr
AT FAT G &?

SSCCGL11AUG-S3:73

(a) Bank 1 and Bank 4/d& 1 duT & 4

(b) Bank 1, Bank 4 and Bank 3/d 1, d& 4 qem § 3

Free Study Material Join: Telegram.me/ExamsCart

(c) Bank 1, Bank 4 and Bank 5/d& 1, S 4 gan s 5
(d) Bank 4 and Bank 5/ 4 gar S 5

(15) What can be said about the two following ratios?
I. Loan amount disbursed by Bank 1in 2011/ Loan
amount disbursed by Bank 2 in 2014

[l. Loan amount disbursed by Bank 3 in 2014/ Loan
amount disbursed by Bank 4 in 2011

eI & 3eTaTcil o S 31 74T gl STT el &7

1. 2011 # e 1 garT faaRd o1/ 2014 # e 2 garr

faaRa =or

II. 2014 7 S 3 GaRT AR RO/ 2011 3 sk 4 gaRT
faaRa =or

SSCCGL11AUG-S3 : 74

@ I>1 (b) 1<

© =1 (d) No relationahlg Heer & &

(16) Which of the following is the correct order of
percentage increase in loan amount disbursed by the
given banks from 2010 to 20147

2010 & 2014 T f&T 37T dr & garT fohw 910 faaRa
0T T TR 3 GTcIRIeT G e I let AT el &l het
HETR?

SSCCGL11AUG-S3 : 75

(a) Bank 3 > Bank 5 > Bank 2 > Bank 1 > Bank 48 3

>dwr5>dR2>dF1>dF 4
(b) Bank 2 > Bank 3 > Bank 5 > Bank 1 > Bank 48 2
>dw3>des>dF1>dF4
(c) Bank 5 > Bank 2 > Bank 3 > Bank 4 > Bank 18& 5
>dF2>dF3>dF4>dF 1
(d) Bank 2 > Bank 5 > Bank 4 > Bank 3 > Bank 18 2
>dFs5>dF4>dF3>dF 1

Direction: - (17-20)

There are six taxi companies (A,B,C,D,E,F) in a certain
city. The bar graph show the number of taxis run by
each of these six companies. Study the diagram and
answer the following question.

T fAfRad R 7 O ¢l FFar (A,B,C,D.EF) &
IR AT 31 BF FFIAAT H & Fedeh GaRT TelTs STt
ITelT ST T TEAT ST 8] 39 3R T ETTT Y
3R Aeafaf@d geat & 3e1 &
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(17) Which taxi company has more taxis than A but
less than D?
fore St Ul 7 A & 3170 3R D &+ SfFaar g2
SSCCGL21AUG-S3 : 72
(o F
(dE

(18) If 30 taxis quit company B and joined company D
then D will have how many more taxis than C?
Ife 30 ¢fFEAT Ul B F1 B15 & 3R Ut D 7 anfAar
81 ST &Y C &I Jefell & D # fohciait 31feren Siepera gisfie
SSCCGL21AUG-S3 : 73
(a) 40 (b) 30 (c) 110

(d) 70

(19) Even if A and C decide to merge, still D will have
how many more taxis (in %) than the merged A and C
entity?
7o €Y A 3R C e e 1 [AvTT o, e oY el A
3R C A &=t Feg &Y JefalT # D H fehcialt 3110 (% #)
g gief?
SSCCGL21AUG-S3:74
(@) 15 (b) 20 ()10

(d) 25

(20) If each taxi on an average runs 100 kms every day
and if fuel cost is Rs 3 per km, then all these taxis
spend how much (in Rs.) on fuel every day?

Ife g Sorelt gfafeeT 3itader 100 fraT. Terdr g 3R
i ST T T 3 T Uia fn.#T. Y, ar & fe=T gy
fraat & faw Suet W frderr s (& #) grem?
SSCCGL21AUG-S3 : 75

(a) 128000 (b) 108000
(d) 98000

(c) 118000

Direction:-(21-24)

The bar graph shows the number of employees
working in 6 different companies. Study the
diagram and answer the following question.

Free Study Material Join: Telegram.me/ExamsCart

Ig IR G 6 A FuRAl T FH FTIE
FHATRAT T TEIAT HY GATAT §] 3G HT HETIA HY
Ik PfRRaRal F 3w

450
400
350
300
250
200
150
100

whafd & sun

Numberof employees /

S0
0

(21) What is the difference in number of employees of
company D and company A?
HUT D 3R FI A F FIATRAT T TEaT 7 fhcd=r
A2
SSCCGL22AUG-S2 : 72
(a) 100 (b) 50 (c) 150

(d) 200

(22) If an insurance agent gets to sell policies to all
employees of companies B, D and F, then how many
policies does he sell?
Ife IS AT Teic B, D 3R F ufarat & geft et
T T TorEl STl TG &, AT T8 fahelel! Uil (T el 87
SSCCGL22AUG-S2: 73
(a) 750 (b) 650 (c) 800

(d) 700

(23) Number of employees in company E are lower
than those of company B by:
Ul E H haTaTRET hT HEAT &hdfall B & Heplelel fehetall
AL
SSCCGL22AUG-S2 : 74
(a) 60% (b) 80% (c) 40%

(d) 20%

(24) If Company B\'s department which employs 20%
of its employees is sold off to company F, then
company F will now have how many employees?

gfe &Yl B T 9g TA3TmeT, TSaa 38 20% HaanT i
U AT AT &, 38 FYT F i S AT AT 8, ar
FUAT F 7 319 fohdel heanY 8197
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SSCCGL22AUG-S2 : 75
(a) 400 (b) 450 (c) 500
(d) 550

Direction:-(25-28) The table given below represents
the marks obtained by 5 students in 4 different
subjects. Each student was given marks out of 100 in
each of the given subjects.

T 2 375 ATforehr o 5STAT GaRT 4 3reldT-37ereT fawat 7
YTCT 3iehT Sl GRITAT 1T §{TcAeh ST ol @iy fawar & 00
F 3 AT
Student|English|Mathematics|Science|Hindi
o (3R o faamer (fecr
1 87 96 90 81
74 |99 94 89
89 99 99 92
62 89 96 91

95 92 92 86

25) In which subject the total marks of all the
students is highest?fera fawar & @ef ol & Fel 37

KIBE TR
SSCCGLO5AUG-S3 : 72
(a) English373arsir

(c) Sciencefa=ireT

(b) Mathematicsarfora
(d) Hindifger

(26) Which student scored the maximum marks in all
the 4 subjects taken together?
g o1 o @Y 4 /vt Fr At ot 3/ urea

P g?
SSCCGLO5AUG-S3:73
(a) Student 1 /&1 1

(c) Student 3 / &I 3

(b) Student 2 / &TF 2
(d) Student 5 /&1 5

(27) A new subject is added in which all the students
have scored 100 marks. If total marks are calculated as
sum of the marks of highest 4 subjects, then who will
be second in terms of total marks?

T T faww i enfae Far R &, Sad g et A
100 37eh ITCcT T | Afe SeTeh el 3ehT hT IT0TAT & forw 4
STECTH 3iehi dTel TASET T 1T T 9127 8, T ool 37ehi
o 3R IR GER TUTT TR Rl gIamT?
SSCCGLO5AUG-S3 : 74
(a) Student 3/ &1F 3

(c) Student 5 /BIF 5

(b) Student 2 / &TF 2
(d) Student 4 /&1 4

(28) The average marks per student in English is what
percent of the average marks per student in Hindi?

Free Study Material Join: Telegram.me/ExamsCart

3T 7 gy o7 31aa 37, B & ufa orF 3iad 3t
T fohaar ufaera &7

SSCCGLO5AUG-S3 : 75
(a) 91.48 (b) 97.12 (c) 92.71
(d) 98.18

Direction:-(29-32) The table given below represents
the production and sales of wheat in 4 different
countries A, B, C, and D over a period of 4 years. At
the end of year 2010 A, B, C and D had a stock of
5200,3500,7835,1956 (in ‘000 quintals) of wheat
respectively. For any given year the stock of wheat is
calculated as

Stock of year (n+1)=stock at end of
year(n)+production in year (n+1)- sales in year (n+1)
And Surplus of year(n)=production in year (n)-sales in
year (n)

Y &Y 1S e 7 4 auf Y 31 & o e 2ot
A,B,C a7 D & 3cutea T fSshr & gt arm ) aw
2010 & 37T # e AB,C TAUTD & I 3¢ T 5200,
3500, 7835 TAT 1956 (‘000 Facer #) R & | few 7w
forely o 3% 3g & #fe 1 10T & faw

Y(n+1) T HSR +d9(n) & 37 T $HSR +a¥(n+1) T
3T — a¥(n+1) I farshr

ar a¥(n) 1 31TAY = a¥(n) FT IeaTEA-a¥ (n) FHr

Wheat production and sales (in ‘000 quintals)
g T caree AR T (1000 Faeer &)

Country A | Country B | Country C | Country D

Prod |sale| Prod |sale| Prod |sale| Prod [sale
3cla| s [3cHlq| s |3cHla| s |3cHla| s

oo oo oo

g IR g |”FhH| g |”FH| g |H

141 179 224 241
2011( 1218 3 1881 8 2035 7 3126 7

2012( 1554 128 2067 2;8 1821 221 2987

2013( 1671 1?4 1328 2(3)6 1937 226 2143

2014( 1103 1(2)0 1578 1;3 3014 228 4126

(29) What is the surplus (in ‘000 quintals) of
country A of years 2013 and 2014 taken together?
3T A FT I 2013 AT 2014 FT Frel AT (000 e
#) a2
SSCCGL10AUG-S2 : 72
(@) 122 (b) 131 (c) 143

(d) 158
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(30) What is the stock (in ‘000 quintals) of country

C at end of the 4 year period?

291 C 74 9§ F1 3rafr & 37q A $USR ('000 Faea &)

a2

SSCCGL10AUG-S2:73

(a) 5926 (b) 6213
(d) 8844

(c) 6826

(31) What is the difference (in \'000 quintals) in
average production and average sales respectively
of country C in the given four years?

@ 31T 4 g6 A Zer C Y FA: Ad FcueT aur dtEaT
Y & F7 37T (\'000 fFaear /) &2
SSCCGL10AUG-S2 : 74
(a) - 252.25

(c) 350.75

(b) —415.50
(d) 275.25

(32) What can be said about total surplus of
country B and country D over the 4 years?

237 B AYT A D ¥ 4 ¢ Y 3 & For yfOATF X &
FIT FgT ST Tl §?

SSCCGL10AUG-S2 : 75

(a) Surplus of B = Surplus of D

B T 31T8IIY = D &7 3189y

(b) Surplus of D > Surplus of B

D T 37TV > B &1 31y

(c) Surplus of B > Surplus of D

B T 37T8IIY > D & 37T8IY

(d) No relation is there

Direction:-(33-36) The line graph shows annual
profits in rupees lakhs of a certain company from
2011to 2016. Study the diagram and answered the
following questions.

TS IATH ¥ 2011 F ST 2016 ek Teh e shuett
T AT o787 (FIYT @l ) gATdT § | 37 3R Hr
IR M 3R AAATHRT TRt 7 3AR &

Free Study Material Join: Telegram.me/ExamsCart

Profit in rupees hkh /
WY T FRa )

_52010 2011 2012 2014 2015 2016

10

15
Year / 4%

(33) The company reported a loss in which year?

&t o forg a ogeraTet 3ifehet o 82

SSCCGL17AUG-S1:72

(a) 2013 (b) 2016
(d) 2014

(c) 2012

(34) What is the cumulative profits (in lakh Rs) earned
by the company in the given six years?
U 910 B asT 7 ST GaRT Aol TAId o (1T &
) Rrae &7
SSCCGL17AUG-S1: 73
(a) 80 (b) 70 (c) 90

(d) 100

(35) By what value profit in 2012 was more (in %) than
the profit of 2011?
2012 # §U @137 T 2011 H §T o187 BT Jeie H fohetett
318 AT (in % &) 4
SSCCGL17AUG-S1: 74
(@ 10 (b) 33.33 (c) 50

(d) 40

(36) If the profits are added to the company\'s
reserves and the reserves stood at Rs 150 lakhs at the
end of 2015, what were the reserves (in Rs. lakhs) in
the beginning of 20127

Ife oITeT ol Ut o Rotd & enfder foram sar g 31K
2015 & 31d # RS 150 o & &Y ST &, ar 2012 &
HRHA 7 RIS (1@ T #) Forctat aT?
SSCCGL17AUG-S1:75

(a) 130 (b) 90 (c) 110
(d) 40

Direction:-(37-40) The pie chart given below the
break-up of number of hours of teaching various
subjects at an institute by Mr. Raghav.

A1 few o 3o R #F 4 e qan faneh e A

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On

2017




Daily Visit: ExamsCart.com

AT fAwat o ggre & =Y Sy GEA13N & Faffentor 1
gelfar TR B

Data Modemn Maths
Sufficiency /

Y | FreferE
Data qaTCAar
Interpret.atlon / 4% Number
EL System / E&4T
\\//
8% 4
Algebra/
oo
9% Arithmetic/
/ Fwafora
Geometry / X 46% y
6%
(37) If Mr. Raghav taught a total of 500 hours, then
what is the difference in number of hours of teaching
algebra and modern Maths?
SSCCGLO9AUG-S1 : 72
(@) 15 (b) 20 (925
(d) 40

(38) Mr. Raghav taught Geometry for 36 hours. If the
time taken in teaching Ratio consitutes one-fourth of
the time for Arithmetic, then for how much time (in
hours) did he taught the topic of Ratio?
SSCCGLO9AUG-S1:73
(a) 46 (b) 51.75 (c) 69

(d) 103.5

(39) If Data Interpretation and Modern Maths were
taught for a combined time of 96 hours, then for how
much time (in hours) were Number system and
Geometry taught?
SSCCGLO9AUG-S1:74
(@) 136 (b) 184 (c) 216

(d) 232

(40) A new topic named Problem Solving was also
introduced and it was decided that 10% time of all
topics except Arithmetic will be devoted to it. What
will be the central angle (in degrees) made by
Problem Solving in the new pie chart?
THEIT GATYT SATHS Ueh 737 [aw enfie rar sr g
AT T 3T o 3ehaTfOTeT & 3refrar Fedt fawrat b1 10%
AT W v &t fear sdem | v ga Ry # wwHer
HHTUT SR ST 311 7E o7 (T30 /) 4 glam?
SSCCGLO9AUG-S1: 75
(@)17.28 (b)18 (€)19.44

(d)36

Direction (41-44): The table given below shows the

Free Study Material Join: Telegram.me/ExamsCart

percentage of literate people in 6 cities . This table
also shows the ratio of males to females among
literate people.

o &1 715 ArforsT & 6 et & Rfera oo & wfdera &t
&1 AT § g cforent RIfaTe el & qow qar afgenait
& JFegarel 1 oY GRATE ¥ |

% of literate people | Males: Females
City/<TEX fRifera & &1 oY ; gigamy
gic=rd

City 1/ el 1 80 4:5

City 2/ TER 2 85 7:4

City 3/ gl 3 78 3:2

City 4/ Tgl 4 63 1:1

City 5/ /gl 5 92 9:7

City 6/ TE3 6 58 23

% of literate people of any city

=(Literate people of the city /total population of the
city)x 100

forelT 2rgx & fRAITATT St s wfaRra

=(39 AT o AT S9N /38 AGT T el STATEAT )
%100

(41)If the total population of City 4 is 600000, then
how many literate people are there in city 4?

e AT 4 T el STAHEAT 600000 8, it AT 4 H fobctad
RIGGECIEIN
SSCCGLO9AUG-S2 : 72
(a) 480000

(c) 468000

(b) 378000
(d) 348000

(42) Total population of City 6 is 200000 and the total
population of City 2 is 220000. What is the respective
ratio of literate males of City 2 and literate females of
City 6?

UG 6 T ool STTEEIT 200000 & TTUT BT 2 T Foel
STeTEEAT 220000 & | SR 26T 2 & RITeTT gosit aar
e 6 Y R A3t & sy a1 3refaret T 87
SSCCGLO9AUG-S2 : 73
(a) 348 : 595

(c) 595: 348

(b) 255: 199
(d) 199 : 255

(43) If there are 259210 literate females in City 5, then
what is the total population of City 5?

e Qe 5 3 259210 fRATET AT §, A 2M6< 5 & el
STAGETT T &7
SSCCGLO9AUG-S2 : 74
(a) 644000

(c) 690000

(b) 354200
(d) 483000
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(44) The population of the 6 cities are 250000, 200000,
220000, 300000, 150000 and 400000 respectively.
Which is the correct order of the number of literate
people in these cities?

6 QMR T STAHEAT shaeT: 250000, 200000, 220000,
300000, 150000 21T 400000 & | 3oT M1 & fRATET alreit
T T T eI e it TTE?

SSCCGLO9AUG-S2 : 75

(a) City 6 > City 1 > City 4 > City 2 > City 3 > City 5
(b) City 4 > City 6 > City 1 > City 2 > City 3 > City 5
(c) City 6 > City 4 > City 1 > City 3 > City 2 > City 5
(d) City 6 > City 1 > City 4 > City 3 > City 2 > City 5

Direction(45-48) : The bar chart given below shows
the sales of 3 types of cars in the indian automotive
industry over 4 years. All the sales figure have been
shows in terms of ‘000" units.

A e arv gus T A Ry Ay 3ulr & 4 anf 7 3
TR T RIS Fshr T goafm aram g fshr & asfr stfersr

Y <000° SHIS & T 7 GITAT ITAT &

¥ Hatchback / §d® ™ Sedan / @31 U SUV / wa.g 4.

800 -
700 -
600 -
500 -
400 -
300 A
200
100 +

0 -

o
Te
©

fashr (‘000 3%1%)

Sales (‘000 units)

2010 2011 2012
Year/a¥

(45)Which of the following type of car has the highest
increase in sales from 2009 to 20127

fArafafad # & fFa yeR T &R Fr fashr & 2000 &
2012 T JfehcTd Jeier §s 87
SSCCGL11AUG-S1:72

(a) Hatchback / §areen

(b) Both SUV and Hatchback / T&. g, 4. GEIREEED
gt

(c) SUV / TH. g .

(d) Sedan / @37

(46) What is the simple annual growth rate (in %) in
the sales of SUV from 2009 to 2012?
2009 & 2012 cfeh TH. g, dT. 1 fasht & AT ariien

FeTr &T (% #) foheti &7
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SSCCGL11AUG-S1:73
(a) 90 (b) 100
(d) 150

(c) 133.33

(47) What is the respective ratio of total sales of Sedan
and total sales of SUV over the period of 4 years ?

WSTeT T 4 vt T et fSshT T T, g, . 1 4 Tt &y
ool ToIShT T Sharer: 31U T 82
SSCCGL11AUG-S1: 74
(a) 23:31 (b) 29:39

(d) 76 : 47

(c)43:31

(48) If all the 3 categories increase by same rate in
2013 over 2012 as they did in 2012 over 2011, then
what will be the total approximate sales (in ‘000 units)
of all the 3 categories taken together in year 2013 ?

IS wefr Aforat 2013 7 2012 A3 X R gefr o

T OX 35g1eY 2012 3 2011 & Fr Y, ar Tedr 3 Aforgr v

2013 # Frof AT T (000 SIS H) /T g1af?

SSCCGL11AUG-S1 : 75

(a) 2152 (b) 2345
(d) 3568

(c) 3069

Direction (49-52) : The chart 1 given below shows
the seregation of 40000000 candidates who have
filled the from of an examination .pie chart 2 shows
the segregation 35000000 candidates w3ho were
present in the examination .The segregation in both
pie charts has baan done on the basis of theire
highest qualification.

forr ferw arw g o 1 # 40000000 3FACART & Hreantor

T GATAT AT & ForE=ile U SRY&TT T ot T § [
T 2 7 35000000 3FHIEART o FreeioT &°f g2ITaT 3T §
ST e A 3R g @At g ot A fyeepor
SFHAIGART T ITaa# e & 3R W Far =g |

[ |

Pie Chart 1 Pie Chart 2

Others/ B.Tech./ Others/
= o aw ki
16% el 14%\

B.Tech./

M.BA./ N 18%

THAT
8%

\ B.Com./

| .

M.B.B.S./
e 1 s
17%

21%

|

MBA./
AT — Y
9%

B.A./ \
@ru.
22%

M.B.B.S./
g drog.
14%

(49) If 18% of M.B.B.S. who have filled the form are
from XYZ University, then how many M.B.B.S.
candidates from XYZ University have filled the form?
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SSCCGL12AUG-S1:72
(a) 1512000
(c) 1440000

(b) 1224000
(d) None of these

(50) What is the absolute difference in the B.Tech.\'s
who have filled the form and M.B.A\'s who were
present in the examination?

SSCCGL12AUG-S1:73
(a) 3500000

(c) 4050000

(b) 3000000
(d) 4000000

(51) 50% of others who have filled the form are B.
Arch. and 45% of others who were present in the
exam are B. Arch. How many B. Arch. candidates did
not gave the exam?
SSCCGL12AUG-S1:74
(a) 995000

(c) 430000

(b) 685000
(d) 756000

(52) Which highest qualification accounted for most
number of absentees?
SSCCGL12AUG-S1:75
(a) B.A.

(c) B.com.

(b) Others
(d) None of these

Direction(53-56) : The line chart given below shows
the per acre yield (in million tonnes) of tea of 7
countries.

o few e Y o & 7 320t & Ay & 9fa Ua 3caTeet
(FRfoaa aa & ) # eir arar g |

350 -
300 -
250 +
200 A
150 -
100 +
50 A

0

300

afa vz Icua (Afaaer &= o)
P=)
F S

The per acre yield (in million tonnes)

Arerar
Bhutan/
EIc
Thailand/
yTSeivg
Singapore/
ey

HA
Sri Lanka/

Country / &r

(53) What is average per acre yield (in million tonnes)
of these 7 countries?

g1 7 Rit &1 3iraa ufa vahs 3cureA (FAfeae e #)
IERGIEY
SSCCGL12AUG-S2 : 72

(a) 163.14 (b) 184.28
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(c) 146.78 (d) 198.26

(54) What is the respective ratio of average per acre
yield of the 3 countries having the highest yield to
average per acre yield of the 3 countries having the
least yield?

T 37T 3c9TesT arel 3 2211 & 3iad Ui Tehs 3cares
3R TR FH 3cures arel 3 &2l & wa ufa tes
3CUTET T T SHAT: FAT g2

SSCCGL12AUG-S2 : 73
(a)148 : 65

(c) 89 : 69

(b) 201 : 149
(d) 137 : 51

(55) Total per acre yield of India and China is what
percent of the total per acre yield of the remaining
countries?

HR 3R e 1 Foef T Ths 3cuTest, AV 3 fgw arw
&2t & 9T Uehs 3cdTaeT &l fahdlsl ITerd 82
SSCCGL12AUG-S2 : 74

(a) 44.34 (b) 56.68
(d) 79.66

(c) 83.24

(56) All the countries are arranged in ascending order
of per acre yield. If bottom 2 countries increases their
per acre yield by 20% and all other countries increase
their per acre yield by 10%, then what is the new
average per acre yield (in million tonnes)?

T &Rif I 9fd Tehs 3cdTee & 3RIE! hF H sgaiedd
foram arar g1 A 3ifae 2 3 3r9et 9fa wehs 3curest
20% T FEfer il 8 3R 377 el &2 3191 9 vehs
Scutest H 10% T Jefer ld 8, dl 9 vehs w7 3iad
3caree (FAferas et ) fhd=r g2

SSCCGL12AUG-S2 :75

(a) 205.37
(c) 201.19

(b) 210.82
(d) 199.26

Direction (57-60) : The pie chart given below shows
the percentage of time taken by different processes in
making a car.

ST & aTC gt T & Ueh R &etTe bl faidieat Uishanait
¥ T aTo GHY & TTaerd & eI I B
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Glass / 2frarr

%
Seats /Ty 8L°_ _
6% :

Tyres /‘ﬁ%ﬁ;’f’

11%

X _-Engine / 3
' 40%

\_Paint / 73T
13%

(57) If total time taken to make a car is 300 hours,
then what is the total time (in hours) taken in paint
and frame?

e R Fallel 3 o311 ATell Foof FHY 300 TUE §, 7T 97
AT & & ToIT el fehctetr T (groet #) forar argr gram?
SSCCGL10AUG-S3 : 72
(a) 99 (b) 72 (c) 105
(d) 66

(58) If time taken in seats is 192 hours, then what is
the time taken (in hours) in glass?

e Iefet # fordm I el @oy 192 HUe g, o My o
fohdelT AT (gvuet ) forar arr grem?
SSCCGL10AUG-S3 : 73

(a) 256 (b) 352

(d) 278

(c) 416

(59) If total time taken in engine and tyres is 127.5
hours, then what is the difference (in hours) in time
taken by frame and glass respectively?

I Gofel AT 9fgat 3 Toram a1 el THY 1275 G0 §,
AT raer: g T feY 7 T 1T FH & e 1 3R
(ar9et ) fahet=r grem?
SSCCGL10AUG-S3 :74
(@) 27.5 (b) 12.5 (c) 40
(d) 35

(60) 15% of total time is spent on quality check and
this time is equally taken from all other processes. So
What will be the new sectorial angle (in degrees)
made by total time of seats and glass?

Tl FHT T 159 A J[OTIAT TLI&TOT H ST ST &

TUT TE FHY b 3T Ifshams it o a7 § & e forar
ST & | 7Y 3TecY T <Y & Frol FHY T 74T JAGUS

IuT (f3aft ) fohcteTr ghom?
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SSCCGL10AUG-S3 : 75
(a) 28.6 (b) 324
(d)31.6

(c) 358

Direction (61-64) The bar chart given below shows
the seles (in ‘000 units) of 4 mobile brands for 3 years.
o few arw gus R & Aarsd 0 fi 3 auf v foshr
(‘000 SIS 7 ) T ST ITATE |

The bar chart given below shows the sales (in ‘000 units)
of 4 mobile brands for 3 years.

#@r=r f&o 97 gus Ry # Aarso oSt A 3 guf Hr
oY (‘000 swre ) T =TT I3 &)

UOBrand 1 /€95 1 UBrand 2 / 9195 2

BBrand 3 /9w 3 ®Brand 4 /9954
10 9.5
8.5
7.5 75 7.5
& 6.5 &

5.55

Sales (in 000" units)

fadr (000" 57 )

O=_2NWAOO®ON®CO

2014 2015

Year/a¥

(61) What is the percentage increase in number of

mobile sold by Brand 2 from 2014 to 20157

SSCCGL12AUG-S3:72

(a) 8.33 (b) 33.33
d) 11.11

(c)37.5

(62) What is the percentage increase in the total

number of mobiles sold by these four brands from

2014 to 20167

SSCCGL12AUG-S3 :73

(a) 42.16 (b) 38.63
(d) 30.16

(c) 3243

(63) In the sales of each brand increased by the same
percentage as it did in the year 2016. What will be the
approximate average sales (in units) of mobiles per
brand in year ?

SSCCGL12AUG-S3 : 74
(@) 9175 (b) 8360
(d) 9678

(c) 9436

(64) If for any year, the sales of a brand is more than
average sales of these four brands in that year, then it
gets a star. Which brand has the maximum stars?
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SSCCGL12AUG-S3:75
(a) Brand 3
(c) Brand 4

(b) Brand 3 and 4 both
(d) All brands

Direction (65-68) : the bar given below shows the
number of cars parked in a multi-level parking from 6
am to 6 pm on a given day.

oM T 1w 2Us o & weh agAfSrer qifehar # few arw
forelT f&T 7 UTeT: 6 91 & |19 6 91 T (Ycdeh ©¢ & 37
) @Y fr 7S TSI Hr TET I AT IR R

250 -
200
150

g

T 100

Number of cars

50

0

Hours /9&

(65) What is the average number (approximately) of
cars parked per hour from 6 am to 6 pm on the given
day?
few arw farelt f&et 7 qaeet 6 97 & 39X0geT 6 9
JAF g H WY 1 1S i3t i 3t aear (srereran)
FATE?
SSCCGL11AUG-S2: 72
(a) 80 (b) 85 ©73

(d) 78

(66) At what time the percentage change in number
of parked cars is the maximum?

fore g rfeher 7 @3 1 775 anfeat i dear & ufaera
# Ho 3T TR g3 §?

SSCCGL11AUG-S2 : 73

(a) 9 am to 10 am YaTgeT 9 To1 & YaTgeT 10 T cieh

(b) 12 pm to 1 pm 3TURTET 12 Tl & AR 1 Fof I
(c) 8 am to 9 am YalTgeT 8 §oT A Yallget 9 Tl cIoh

(d) 6 am to 7 am YalTgeT 6 ST A Yaeel 7 &1 deh

(67) For how many hours the number of parked cars is
less than the average on the given day?

fordet guet & forw arfdher # @3y &t 91 anfsar Fr aear
feuae est & AT A FA B?
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SSCCGL11AUG-S2 : 74
(@5 (b) 8 ()6
(d)7

(68) If the charges of parking are Rs 50 per hour, then
what is the total income (in Rs) from 6 am to 6 pm on
the given day?

e aTféhaT b1 ok 50 . el Tver ¥, ot few arw feet
QaTET 6 T W HRTE 6 Ti Teh TS el HaTs (2. H)
BRGNS

SSCCGL11AUG-S2 : 75

(a) 55500 (b) 50500

(c) 57500 (d) 59500

Direction (69-72) : The bar graph shows GDP for the
year 2016 in billion USD of six countries (A,B,C,D,E,F)
of a regional trade block, study the diagram and
answer the following questions.

IR IATH aY 2016 H U & ATGATAH sclich & OF
&2it (A,B,C,D,E,F) I Tohel TSI 3cTTG (3RS AT
TR & ) ATaT ¥ [58 R T 3T Y 3R
AT 92 & 3% ¢ |

120

100

100
90
L 70
30
. g
0 .
A 8 ¢ D 3

Country / &3

GDP in Billion USD / & AMLT TouR
(T TS I

(69) Which country is the third biggest in terms of
Gross Domestic Product (GDP)?
Hehol LT 3AITG, (SiT 31 dY) o T H Hler-A1 2T
A TR T I3T 87
SSCCGL17AUG-S2 : 72
(@A (b) C (QE

(d)F

(70) By what amount (in billion USD) is the Gross
Domestic Product (GDP) of Country A lesser than that
of Country F?

&2T A T Tohel TSI 391G, (ST 31 o), &2 F & fohcistr

el (3R 3TN ST #) A FH §?
SSCCGL17AUG-S2 : 73
(a) 20 (b) 50

(d) 40
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(71) What is the ratio of Gross Domestic Product
(GDP) of Country E to Total of GDPs of countries A, C
and F taken together?

SAEHTSA A, C 3R F & FeT Fehvo! TFET 3cUTe; (ST S

o) & AT U 82

SSCCGL17AUG-S2 : 74

@3:5 (b)5:3
(d)5:9

(©9:5

(72) If the combined GDP of the six countries has
grown by 50% in the last decade, then what was their
combined annual Gross Domestic Product (in billion
USD) before 10 years?
I ol g2 & ©F G TYehd Tohel TNIET UG 7
50% ﬁagi%g‘é’a‘f ar 10 I Ygel 3eTehl Hgehd AT
Hehel AY[CT 3AUIG (3RT TAIDT SToR #) Fhciatr glam?
SSCCGL17AUG-S2 : 75
(a) 540 (b) 180
(d) 200

(c) 240

Direction (73-76) : The bar chart given below shows
the number of audience in a multiscreen theatre for 3
shows.

ﬁﬁ%@mmﬁ?ﬁwwm@mﬁ3

FTIHAT & o7 geieh! ST TEAT T g2TAT AT E |

Oscreen1 /9271 ¥Screen2 /9212 ™Screen 3/ 98
2 7.5

-
l 6 6.5 6
| 5
d 45 4
I 3

1st 2nd

3rd

¢

¥ (00' 31§ )

Audience (in 00" units)

Shows | FTdFH

(73) What is the percentage increase in the number of
audience in Screen 1 from second show to third
show?

U 1 9 GER HRHA A MR s & forw gefent i
& 3 fohctt gfaRrd 1 el gs &7
SSCCGLO9AUG-S3 : 72
(a) 50 (b) 100

(d) 150

(c) 120

(74) For the second show the number of audience in
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Screen 3 is how much more than the number of
audience in Screen 1?

IR A & T 9& 1 TR S Eeiehl 1 HEAT 9& 3 W
& 2T T TEAT A fhdir 3178 g7
SSCCGLO9AUG-S3 : 73
(a) 500 (b) 350

(d) 450

(c) 400

(75) What is the percentage increase in the total
number of audience from second show to third show?

GO HThe A X HRIHH & T oot qefent T Fer
# foncter wfcierd 1 e gg &2
SSCCGLO9AUG-S3 : 74

(a) 20.69 (b) 25.13
(d) 18.15

(c) 22.24

(76) If the tickets for Screen 1, Screen 2 and Screen 3
are Rs 350, Rs 300 and Rs 250 respectively, then which
screen has the maximum total revenue for three
shows?

I7e 9¢ 1, 2 74T 3 % ToIT feshel &l 7o %A 350 %,
300 . AT 250 %. &, A el ShrishAT & forw fovg 9 fir
Tl HATS HallTereh g7

SSCCGLO9AUG-S3 : 75

(a) Screen 1
(c) Screen 2

(b) Screen 1 and Screen 3
(d) Screen 3

Direction (78-80) : The line chart given below shows
the ratio of production to sales of two bike-
manufacturing firms over the period of 6 years.

o v arw Y@y R 7 & g [AfsATor Fufaat & 6
et AT Hafe A gU SedTeet T fSshr 3 31egard & aifar
TATE |

Assume if in any year sales is more than production

then both the companies has suffcient stock to meet
such instances.

AT NI A farely a fshr | 3cureer & 3rftes g ar ol
aRfeafaat & fore gt seafaat & ore qacd HosK &
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(77) If the sales of company 1 in year 2015 was 50000
units, then what was its production (in units) in year
20157

i Y 1 I8 2015 H 50000 SIS T T &, Ay ay
2015 3 3HHT TG (3HTS H) FHAT B1IM?
SSCCGL16AUG-S3 : 72

(a) 38460 (b) 45000
(d) 65000

(c) 52000

(78) The production of company 2 in year 2012 is
30000. If sales of company 2 in year 2012 and 2013 is
same, then what was its production (in units) in year
20137

YT 2 T I 2012 FT 3A9TGT 30000 &1 I I 2012
3R 2013 # FHYAT 2 ST fshr sRTeR &, AT I 2013 # SHHT
3G (3T H) forcta 4m?

SSCCGL16AUG-S3 : 73

(a) 100000 (b) 16000
(d) 20000

(c) 30000

(79) The production of company 1 in year 2014 is

18000 and sales of company 2 in year 2012 is 15000.

What is the ratio of difference in sales and production

of company 1 in year 2014 and company 2 in year

20127

FTel 1 T IW 2014 T 3AIGT 18000 § FAT AT 2 T

a¥ 2012 # &Yt faehT 15000 &1 ¥ 2014 # &9sir 1 q2m

a¥ 2012 # f9shT 15000 &1 @ 2014 & el 1 FUTay

2012  ShauR 2 T TarshT AT SeTdTCe o (e T 3fegarel

FATE?

SSCCGL16AUG-S3 : 74

(@) 8:15 (b)7:16 (©9:11
(d)y3:8

(80) Company 1 sold 20000 bikes each year from 2011
to 2016 and company 2 sold 10000 bikes each year
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from 2011 to 2016. What is the difference (in units) in
average yearly production of company 1 and 2?
FTaAT 157 2011 & 2016 T TcIeh a¥ 20000 ST Sdr
TUTHYAT 2 ¥ 2011 F 2016 A TAdSh a9 10000 ST
ST | YT 1 TUT HYAT 2 F 3T A IauresT &
fordeT 3R (FehTs #) 87

SSCCGL16AUG-S3 : 75

(a) 6733.33 (b) 7500 (c) 8666.66 (d)
9333.33

Direction (81-85) : The pic chart shows tickets sold
(in 1000s) per month by six different airlines
(A,B,C,D,EF). Study the diagram and answerthe
following questions.

9TS I1C BF et -[eed TIessd ( A,B,C,D,EF) garr
Il FTE I STTeT aTell feshe (FoTRI & ) e & | 39
3R T 7T Y 3R AR gt 1 3R S |

(81) Which airline sold the second highest number of
tickets?
feenet 1 gad wd 3ifeeh fshr st arell TS
leT-Tr &7
SSCCGL17AUG-S3:72
(@E (b) A (B

(d)D

(82) Airline E sold how many more tickets than Airline
A?
TS E o TAReAgeT A T Jofal & fehcetr 3iferen
feerd S
SSCCGL17AUG-S3 :73
(a) 25 (b) 16 (c) 20

(d) 10

(83) The ratio of tickets sold by Airlines A and D to
tickets sold by Airline E is?

RS A 3R D garT ot 915 feanet o1 TaRergs E
CERT & TS feehel & JHeTdTel fohetatr &7
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SSCCGL17AUG-S3 : 74
(@ 3:4 (by4:3
(dy4:1

(©2:3

(84) If the price of an airline ticket is Rs 7000 then by
what amount, monthly Revenue (in Rs. Millions) from
sale of tickets of Airline B is greater than that of Airline
E?

fe TS feehe T HrAd 7000 T & A TIATS B
mwmmmagmmmm
T H) TIRATSH E & Heplao ol 31T grai?
SSCCGL17AUG-S3:75
(@) 77 (b) 7 (c) 35
(d) 42

Direction (85-88) : The line graph shows the record
of number of admissions to a certain coaching center
from 2011-2016. Study the diagram and answer the
following questions.

TS IATH 2011 T 2016 Tk Teh ATRad ifeier Hex 7
STTRrer T T&AT 1 Nl @ §| 59 3R T 3T+
¥ 3R Frafafld geat &1 391 &)

400 -

1
i

S0

0

2010 2011 2012 2013 2014 2015 2016

Year / a4

2017

(85)In how many years was the number of admissions
greater than that of the previous year?

forctet arsit 7 freser o T ottt ¥ aTfelt hr Fea
3iferes o
SSCCGL18AUG-S2 : 72
@2 (b) 3 1
(d) 4

(86) Ignoring year 2016 how many students took

admission in the coaching centre since its inception in

the year 20117

T 2016 I BISHT, TY 2011 & R & d1g § =t o1l

& pifeier HeX # gri@er foram?

SSCCGL18AUG-S2:73

(a) 1300 (b) 1200
(d) 1000

(c) 900
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(87) Admissions in the year 2014 grew by
percent as compared to the previous year.
eer a¥ &1 Joretr 7 9§ 2014 H 1@l 7
gfaerd 1 Jefa g5
SSCCGL18AUG-S2 : 74
(a) 50 (b) 100 (c) 40
(d) 66.67

(88) If fees charged by the coaching centre was Rs
10000 for the first 3 years and Rs 12000 for the next
three years then what is the total fees (in Rs. Crores)
collected by the coaching centre in the last six years?

I ITRIT HeT T efeh TUH 3 a8 & fw 1000 %. 3R
3TeY 1T st & frw 12000 & &Y o frsor o ast & e
T EgRT Tehl T 7S Fool Yeleh (IS &, #) fohciair A
SSCCGL18AUG-S2 : 75

(a) 1.48 (b) 1.38
(d) 1.18

(c) 1.28

Direction (89-92) : The pie chart shows the annual
car production (in millions) of six countries (A, B, C, D,
E, F) study the diagram and answer the following
questions.

TS °1E B8 8201 (A, B, C, D, E, F) &7 aIf¥e & 3cdigeT
(& g ) S2ATT §] 3 3NW & LTI Y 3R
fFfafd gt & 303 &

Which country produced the second least number of
cars?

Toher 1 A Q8N YT TR HH A ST & UG
g3
SSCCGL18AUG-S3 : 72
(@b (b) F
d) A

(90)

ntry E produced how many more cars (in %) than
country B?
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&7 E oY 21 B Y JotaT # fobctalt 3rfieh (% o) annfeai st
fa&ToT foRar?
SSCCGL18AUG-S3 : 73
(@) 10 (b) 12.5 © 11.11
(d)8

(91) % of the cars produced by these six countries are
diesel and the rest are petrol, then how many petrol
cars were produced (in millions)?
Ife; 31 o7 &2 garT AfFT izt 7 & 35% Sater
ST & 3R A UGS IS T SqdTe (S8 o1 #)
[ERIEIRIK
SSCCGL18AUG-S3 : 74
(a) 1.755 (b) 0.945 (c) 2.7

(d) 1.8

(92) If on an average the cost price of a car is 30000
USD and environmental tax levied on each car is 2.5%
of its cost price, how much environmental tax was
collected (in billion USD) from production of cars in
these 6 countries?

T vk IS I AT ST 30000 IFLRT STer &Y 3R
Y&k IS R STIMT 3T YITARUT Chil SHDT Tl
HIHAd FT 2.5% g dl 3T 6 =0T H INBAT & IAUCA &
fRTeTT JATaROT Y (3R TR SToR ) Teha fohar
STTaT?

SSCCGL18AUG-S3 : 75

(a) 1.03 (b) 2.03 (c) 3.03
(d) 4.03

Direction (93-96) : The bar graph shows annual
inflation in two years 2015 and 2016 of four countries
(A,B,C,D), study the diagram and answer the following
questions.

IR I & a¥ 2015 3R 2016 & TR 20T (A,B,C,D) Fr

aTfeh eI ERiTeT 8 | 38 3R 1 37eTaeT % 3R
fAFfafld ueat 1 307 g |

9
8
8
7 7
7
6
S
4
a
3 3
3
2
1
0 T
A B C

Country / &%

Annual lnflation in % /
affife speffy (% 6
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(93) In which country inflation in 2016 was lower than
that of the previous year?
ay 2016 # fohar ger & Feehiid Arorer af it oo &
Fa A
SSCCGL18AUG-S1:72
(@cC (b) A (B

(d)D

(94) By what percent inflation in 2016 was greater
than the inflation in 2015 in country D?

&er D # ¥ 2016 # g FARAHI, 2015 7 &5 AR,
Y JoAaT 3 fohcTalt TTcrere 3ifeeh d?
SSCCGL18AUG-S1: 73
(a) 60 (b) 100 () 150

(d) 120

(95) In the year 2015, what is the ratio of inflation in
country C to country A?

a¥ 2015 7 23 A 3R C & AU Herhifd &1 31egare

fehcer &2

SSCCGL18AUG-S1: 74

(@1:2 (b)2:3 (©)3:2
(d)2:1

(96) If inflation is measured as increase in price index
and the price index was 200 in the beginning of 2015
in country D then what is the index at the end of
20167
I FeT FHI Fahie # gefar & it o AT v 3R
331 D # 2015 & 3T & FHeTd Gaehich 200 AT A 2016 &
3 #H Feehieh fahcialr gram?
SSCCGL18AUG-S1:75
(a) 207 (b) 207.2 (c) 210

(d) 214.2

Direction (97-100) : The bar graph shows revenues in
rupees lakhs from selling four different products (a, B,
C, D) by a certain company. Study the diagram amd
answer the following questuions.

IR ITh U ARG Shueil &bl IR fReel-MReet 3curel (A,
B, C, D) & farshT & g% Toi¥a (¥ ol #) a=ifelr &) 58
3R HT IETIT Y IR Arafaf@a geat &1 307
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different countries.
oy ferw are oy & goTRT & gan fafdiee gait 1 fhehe
AT & ATy TATC T AT Y g I g |

B2015 W26

England/

00 120 " South Africa/ Tz
- s I afgyor ‘:Tm 20% Bangladesh /
24% FTATR

C D

Revenues in Rs. Lakhs /

TET (B9A wwat A

Product /37910

(97) Revenues from which product were the least in
both the years 2015 and 20167
¥ 2015 3R I 2016 F fFE 3AUTE T AT TTH Fel
qr?
SSCCGL19AUG-S1:72
(@) D (b) A (0B

(d)C

(98) By what value (in %) the revenue from sale of
product B in 2016 was greater than that of 2015?
Iy 2016 H 3dUIG B@r%ﬁ@gmmaﬁrzom#

qoraT 3 fohcTaT (% #) 3ifereh ur?

SSCCGL19AUG-S1: 73

(@) 0.5 (b) 5 () 25
(d)2

(99) By what amount (in Rs crore) the total revenue by
selling all the four products in 2016 is greater than
that of 2015 ?
2016 3 Gl TR IATTCT I S5 & g3 el TTare aF
2015 T JefolT & forcaTr 3iftsh (#13 ©. #) 87
SSCCGL19AUG-S1:74
(@1 (b) 0.75 () 1.5

(d) 1.25

(100) If the cost of producing and selling the four
products was Rs 10 crores each in 2015 and 2016 then
what is the cumulative profit (in Rs Lakhs) earned in
the years 2015 and 20167
Ffe ay¥ 2015 31k 9§ 2016 # TRT 3qUTET F 3quTesT 3R
ST T ST T av 10 3 FT A ar 2015 iR Iy
2016 H =TT FaTiRId 18T (@t #) aﬁa'g’sﬂ?
SSCCGL19AUG-S1:75
(@) 75 (b) 25 (c) 50

(d) 100

Direction (102-105): The pie chart given below
shows the runs scored by pujara against team of

8%

. New Zealand/
Australia/ :

Freeforar
32%

SSCCGL16AUG-S1 : 71
(101)

(102) The runs scored by Pujara against South Africa is
more than runs scored against Bangladesh by what
percentage?
YSTRT R &f&T0T 3ifthehl & fa%eys =T 91T 31, 38
CART SIFelTGR & fa%eH FTC 1T F&AT ¥ fohdet gfdera
AR §?
SSCCGL16AUG-S1 : 72
(a) 100 (b) 150 (c) 200

(d) 250

(103) f Pujara has scored 1875 runs in total, then what
is the difference in runs scored by Pujara against
South Africa and New Zealand?
I YSTRT & el 1875 Tof TATT, Tl GTRT EGRT STET0T
3ShehT AR FGiTels o [aECH S=1TT 7T Tl o ALY 3R
[EnCIN
SSCCGL16AUG-S1:73
(a) 150 (b) 175 (c) 200

(d) 250

(104) What is the sectorial angle (in degrees) made by
the runs scored against Australia in the given pie
chart?
T aTT urgaTe A 3ieeioraT & fawey F=re 1w &t &
Beaws a7 (Bl 7) fhdar g7
SSCCGL16AUG-S1: 74
(a) 106.8 (b) 109.6 (c) 1124

(d) 115.2

(105) What should be the least number of runs that
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Pujara must have scored in total (runs can only be
integers)?
JEIRT EIRT SATT 3T el Tl T wGeAcdH TET fohlall
gl AfRT (& harel YuTieh &1 Hehl & )?
SSCCGL16AUG-S1: 75
(a) 25 (b) 225 (c) 375

(d) 625

Direction (109-109) : The pie chart given below
shows the runs scored by a player against 6 different
countries. The total runs scored by the player against
these countries are 1600.

T 1T 91T g T # weh [Qerst o ganT 6 faffieer e
o ey 91T 7T TaT T gRiiam I § | FEemst & garT
T ST o faeeyy §eTT 310 el ToT 1600 & |

New Zealand/

S -

6% N\ T~

South Africa/
Zfayor arfrer
17%
Pakistan/

12%

SriLanka//\
SreTerT
9%

(106) How many runs has the player scored against
Pakistan?
qrferediel & faeey f@ars o fhdat I S0
SSCCGL16AUG-S2 : 72
(a) 272 (b) 192 (c) 256

(d) 144

(107) The difference between the runs scored against
England and Pakistan is same as the difference
between which of the following two countries?

§70lu3 3 iferearet & faeeer 91T aTU Tt & e st
3R, AT & 3 ot & g2t & favey s arw
AT o & 3R & TATT g7

SSCCGL16AUG-S2:73

(a) South Africa and Sri Lanka / gf&uT 3nsfYerT 31k

SrolenT
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(b) South Africa and New Zealand / &0t 315hrat 31k
el

o

(c) Australia and Sri Lanka / 3ireeforam 31T sireenr
(d) Australia and New Zealand / 3ieeform 31
il
(108) What is the difference in runs scored by the
player against Australia and Sri Lanka?
TRemeY gan iteeforar 3R s & A%y samw are
At & o 3R raer 87
SSCCGL16AUG-S2 : 74
(a) 256 (b) 128 (c) 114

(d) 80

(109) Difference between the total runs scored against
Australia and New Zealand and the total runs scored
against Sri Lanka and Pakistan make what sectorial
angle (in degrees) in the pie chart?
3iteeioran 3R ~gsiiels & Tavel S=TT 1T el T AT
AT 3R ATfehEciled o fa%ets SeiTT T el Tt o o
T 3R OTS-aTE ¥ Rt geres 0T (. 1) aere &2
SSCCGL16AUG-S2 : 75
(@) 90 (b) 144 (c) 36

(d) 72

Direction (110-113) : The graph shows Net export in
million USD of a certaion country (Net exports =
Export — Import), Study the diagram amd answer the
following questuions.

TS AT Uk fA TR &1 o et el (& o
3T ST ) G 7] (e T = v - 3mama)|
3 3G T IETTA HY 3R FeAfaf@a weat #1371 )
a0

30

20

10

10

0
2010 2011 2012 2015 2016
-10

20

Netexports in million USD /
O v (@ wR 3O e A

-30
Year / 7

(110) In how many years were the net exports more
than that of the previous year?

fohctel ast 7 et fordTeT oot af & ofer & 37fere am?

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On

2017




Daily Visit: ExamsCart.com

SSCCGL19AUG-S2 : 72
(@) 1 (b)3 (4
(d) 2

(111) If the exports in 2013 were 90 million USD then
what was the imports (in million USD)?

g 2013 # fAaTa 9ommﬁm§msﬁ
3TTATT (8 oG 3TN 3TeR ) fhdeTr ar?
SSCCGL19AUG-S2 : 73
(a) 80 (b) 110 (c) 70

(d) 100

(112) What is the ratio of net exports in year 2016 to

that in year 20127

ay 2016 T ofell 3 Y 2012 7 Fef fol ATl T eI

forctar am?

SSCCGL19AUG-S2 : 74

(@2:3 (b)3:1 (©1:3
(d)3:2

(113) Cumulative net exports (in million USD) from the
beginning of 2012 to the end of 2015 was?
2012 o R W AT 2015 o el e T ol
T (G oG 3R STei #) fohdeTr aT?
SSCCGL19AUG-S2 : 75
(a) 80 (b) 40 (c) 20

(d) 60

Direction (114-117) : Students from different
countries (A,B,C,D,EF) participated in a certain
seminar. The pie chart shows how many students
came from each of the six participating countries.
Study the diagram and answer the following
questions.

TafFe= &2 (A,B,C,D,E,F) & 37T STaT o U faferse
AFRAR # 1197 foram | o1$ aré g g2iiar § A o ufasmfr
A F A IAS A sl ©IF 3T § [5H 3R HT I
W 3R PAfaf@T geat a1 3R g |
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(114) The biggest contingent of students was from
which country?
ST T T T3 &l oy =T & T2
SSCCGL19AUG-S3 : 72
(@A (b) C (0B

(d)D

(115) What is the angular measure (in degrees) of the
sector representing Country A?
2T A ST RifeT aTel &8 &7 o AT (33t ) Har 82
SSCCGL19AUG-S3:73
(a) 100 (b) 25 (c) 50

(d) 120

(116) By what count (in %) students from Country B at
the seminar were more than the students from
Country E?

QAR # 2T B & O, 2 E o ST 1 Jolall 7 ohcial

31T (%) 22

SSCCGL19AUG-S3 : 74

(a) 40 (b) 200 (©) 20
(d) 18

(117) If the cost of total spending on transport for the
seminar was Rs 9 lakhs and the cost of hosting the
students was Rs 15000 per student then what was the
ratio of hosting cost of all the students to that of
spending on transport?

Ife AfAAR & fAT aRagT T Fel T 9 71 g3 &l 3R
ST T ASTETAT X 15000 T STT ST ART 378 o gafr
BT AT AT T g% T HR TR TR 37 bt
37Tl AT EIIT?
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SSCCGL19AUG-S3: 75
@2:5 (b)3:2 (©1:1
(d)1:2

Direction (118-121): The bar graph shows the
population density of 6 countries. Study the diagram

and answer the following questions.

g IR AWTRAT 6 2T IS Tefea 1 GATar & | 57
3R T T L 3R A& ueaAt F 39S |

S00

200
150
8 C 0

Country / JU

100 = frawder & S & s

Number of People per 100 sq km / 9f

(118) What is the ratio of the population densities of
country C to country D?
C @ &er D 3T SITHEAT Telcld T HeTdTel T 67

SSCCGL20AUG-S1 : 72
(@3:4 (b)4:3 (©5:4
(d)4:5

(119) What is the difference in the average number of
people living per 1,000 sq km in countries E and F?
E 3R F g2it 7 ufar 1,000 =t ey, 3 3@t arer olett
3T T 7 AR v &7
SSCCGL20AUG-S1:73
(a) 250 (b) 4000 (c) 400

(d) 2500

(120) Population density of country E is greater than
population density of country D by:
42T E &I STAHEAT Geldd &2 D & JAGEAT gefcdd &
[ERGIEIBCE
SSCCGL20AUG-S1: 74
(a) 50% (b) 100% (c) 200%

(d) 300%

(121) If area of country B is 20,00,000 sq km, what is
its population?

gfe 22T B &7 &9l 20,00,000 F97 fhaT. §, af sTehT
FATGAT fohctetl 87

Free Study Material Join: Telegram.me/ExamsCart

SSCCGL20AUG-S1: 75
(a) 10000000
(c) 25000000

(b) 2500000
(d) 1000000

Direction (122-125) : The pie chart shows the votes
in 1000s polled in favour of six condidates (A, B, C, D,
E, F) contesting for a particular seat. Study the
diagram and answer the following questions.

1S =TE Teh HIe o foIT FeiTa of3 78 B8 3#HIean (A, B,
C, D, E, F) & 9&7 & fAe Ad(ESIRT &) g §1 30 I
FT ITETIT AT 3R AFATART wRaAt & 3R QTS|

(122) If Candidate A is disqualified then which
candidate will be declared the winner?

fe FHFHIGAR A & 3T 91 X fear srar g ar
R 3AFIGAR &I fastar aftra forar Sreem?
SSCCGL21AUG-S1: 72
(b)B (O F
(d)D

(123) The winning candidate got how many more
votes than the one who came second?
T 3HiGar FT gEr FUTeT TR 31Tl aTel 3HFAGAR &1
ot & fohctet 3118 ale faer
SSCCGL21AUG-S1:73
(a) 6000 (b)5000 (c) 11000

(d) 7000

(124) Analysts believe that if candidate E had not
stood in the fray then votes that he got would have
been equally divided between F and C, then what
would have been the result?

faereIvent &1 H1=T=T & foh afe 3HFACIR E Ioita & o7 @t
gIar ar 39 fAer are F 3R C & 7y SRR foenfara ar
ST A, ST IROTH HAT §IcT?
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SSCCGL21AUG-S1: 74
(a) A would have lost by 1000 votes / A 1000 @rei &
RESSIGI

(b) F would have won by 2000 votes / F 2000 atet &
EIGESIGH

(c) F would have lost by 2000 votes / F 2000 aer A ER
ST

(d) A would have won by 1000 votes / A 1000 aery
EIGESIGH

(125) If voting attendance was 60% then how many
names must be there in the voter list?

afe; FAFETT 60% EHT & Y FGTT v 3 febetey A1
g
SSCCGL21AUG-S1:75
(a) 225000

(c) 144000

(b) 90000
(d) 150000

Direction (126-129): The pie chart shows the share of
tiger population six wild life sanctuaries (A, B, C, D, E,
F) of a country. Study the diagram and answer the
following questions.

TS TTE &2 A BF ded Sfidst FARVAT (A, B, C, D, E, F)
F qret Y STATEEAT T Tt ST &) 59 3@ T
3T Y 3R et ge=t &1 3R

(126) Which wild life sanctuary has more tigers than D
but less than F?
T a7 SiideT 31RO # D T Jefell & 378 R F
Y JefelT 7 e o 7
SSCCGL21AUG-S2 : 72
(@c (b) A (OE

dB

(127) What will be the total number of tigers left in
the six sanctuaries, if 3 tigers are killed by poachers in
sanctuary E and 9 tigers are added to sanctuary A?

Free Study Material Join: Telegram.me/ExamsCart

I HHAROY E # 3 19 RFRAT garT AR S0 3R
IRV A H 9 §TE ofTT ST Al B HIROE A Fel
fohdet T giar?
SSCCGL21AUG-S2: 73
(a) 93 (b) 96 (c) 99

(d) 95

(128) What is the ratio of tigers in sanctuaries E and F
to that of tigers in sanctuaries D and C?
STHIRUTAT E 3R F & arai 3R 39ERo™i D iR C &
STEIT ST 37T 3T 87
SSCCGL21AUG-S2: 74
@3:7 (b)7:3 (¢)5:2

(d)2:5

(129) If the total tiger population in these six
sanctuaries had grown by 20% and 25% in the
previous two decades, then what was the total tiger
population in these six sanctuaries before 20 years?
I el & a2reh H 5o ©F 3$IRVET A el Y Fol
HEAT H 20% mzs%@ragﬁgé%, ar 20 AT T8l 3T
OF 3ARVTET A Fel dTell hT STAHGAT Fohelell 2477
SSCCGL21AUG-S2:75
(@) 135 (b) 150 (c) 60

(d) 45

Direction (130-133) : The table below shows the
number of students of a college studying Arts,
Science, Commerce and Business for given 5 years.
A &1 15 ATt & U HgTiaurery & fGu e 5 auf &
T, [aaT1e, QOIS AT ST UGt dTel BIAT I
HEIT T &I 31T &

Year Arts Science. Commerce | Business

g ar ym | | soowm

2012 48 105 148 32

2013 56 123 136 30

2014 64 125 144 36

2015 78 148 156 36

2016 92 161 168 48

(130) What is the percentage increase in number of
students of Commerce from 2012 to 2016?

2012 ¥ 2016 A ATOISY & STAT Sl HE&AT H fohcdat
sifeverer 1 gt g6 7

SSCCGLO5AUG-S1:72

(@ 11.16 (b) 17.28 (c) 13.51
(d) 15.67
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(131) What is the simple annual growth rate (in %) of
the number of students of Business from 2012 to
20167
2012 | 2016 Teh SATHTY & O hT ATMSeh HTHAY Jeier
X (% #) fraeir g2
SSCCGLO5AUG-S1:73
(@ 10 (b) 12.5 (c) 15

(d)17.5

(132) What is the ratio of average number of students
studying Arts per year and average number of
students studying Science per year?

eIl UGsT dTel BTAT T TEAT T AT Hrad aar faarer
TG aTel BTAT Sl TET h1 alNeh el T 31egares
g7

SSCCGLO5AUG-S1 : 74

(a) 169 : 331
(c) 127 : 261

(b) 66 : 169
(d)32:75

(133) Which year shows the maximum percentage
increase in the total number of students in these 4
subjects over the previous year?

51 4 fawT o ol o1 T HEAT H b 9§ § Tad
3ifren gfcerd gefar gs 87

SSCCGLO5AUG-S1 : 75
(a) 2013 (b) 2014 (c) 2015
(d) 2016

Direction (134-137) : The pie chart given below
shows the number of shoes of 5 different brands in a
multi brand store. There are total 1200 shoes.

oM T 1T g o 3 Teh SgsiTUs it W 5 fafdeet
STUST & S[clT hY HEAT T <A1 I & | F§T ool 1200 St

gl

Vans/

Puma/
==
S 13%
21% R o o~

_Adidas/

i ) e

P
\_Reebok/
fars
23%

Free Study Material Join: Telegram.me/ExamsCart

How many shoes are there of Reebok brand?

et 0S5 Rrefet R 8 7

SSCCGLO8AUG-S1:72

(a) 230 (b) 276 (c) 286
(d) 216

(135) What is the difference in number of shoes of
Puma and Vans?
AT TAT I8 & Sl o T # frcter 3T 87
SSCCGLO8AUG-S1:73
(a) 96 (b) 156 (c) 84

(d) 112

(136) The difference between the number of shoes of
Reebok and Nike is same as the difference between
which of the following two brands?

RalTeh T AT §1U o [T & forer o Heem &1
fFafafld # & fonet e 5us & St & o o dear &
3R & TATH &7

SSCCGLO8AUG-S1: 74

(a) Puma and Adidas / Sg#AT T TiSSI

(b) Reebok and Adidas / RsTer 21 Ti3s™
(c) Vans and Nike / 3=& T2 asfe
(d) Nike and Adidas / #TSshT g2 Tf3sry

(137) Puma shoes are how much percent more than
the Nike Shoes?
AT o ST ATghT o ST & Fhcett fererd 31 &7
SSCCGLO8AUG-S1:75
(@) 14.28 (b) 16.66 (c) 25

(d) 21.33

Direction (138-141) : A survey was conducted to find
what genre of movies pople liked the most. 1200
people answered the survey. The pie chart shows the
result of that ...survey. The numbers in the pie chart
are the ratios. Study the diagram and answerd the
following questions.

AT ganT fheAT hr Ja8 8w T8 Hr e arelr Aelr
STt o folT Ueh TA&ToT TSI fohdT 31T | 1200 91T
o {faTOT &7 3 & | T =Te 3/ wefator & aRome
RITET & | TS T 7 HEAT 31T 7 ¥ 37 IR
T i AR ATt weat & 3o |

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com

Action / TS, 25
Fiction/BTEAA®, 5
Romance/ TIHTH, 3

A. Comedy / W8HH, 35 B.

C. Historical / SRrEf&®, 6 0.
E. Duma/m,u F.

(138) Which two genres of movies were liked the
least?

TRt ar Aferat S Hew F#A gHe R SATaT 212
SSCCGL23AUG-S3:72

(a) Fiction and Historical @Teufaier 3T g
(b) Fiction and Drama FTeqfaieh 3R ATehT

(c) Drama and Historical ATehRT 31X W@
(d) Drama and Romance aTeehi 3T AT

(139) How many surveyed said they liked Historical
movies?
TEGTOT 37EReT FebcieY 97T &Y TE T T 308 Vg
foreat THg 87
SSCCGL23AUG-S3:73
(@6 (b) 72 (c) 80

(d) 60

(140) How many more people surveyed like Drama
movies than those who like Romance movies?
TAeTOT EMeT fehctal ST o AT et T Jorer
ArehrT fhear &r ude fhar ?
SSCCGL23AUG-S3:74
(@3 (b) 36 (c) 40

(d) 30

(141) 24% people who were mailed the survey
questionnaire answered the survey. The survey
questionnaire was mailed to how many people?

FAETUT T2aTd el Hot STTet aTel oI 3 T 24% ol o
FI8ToT &1 3T feaT| TfeToT wesTael fohey el & Ssir
IS oAf?
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SSCCGL23AUG-S3 : 75
(a) 5000 (b) 10000
(d) 288

(c) 1200

Direction (142-145) : The bar graph shows the
internal memory size of 5 different smartphone
models (A, B, C, D, E). Study the diagram and answer
the following questions.

IR IATH H 5 37l9T-37el9T THCHIT ASA(A, B, C, D, E) &
STl AR 3R E2ATIT IAT § | ATH T IETIA

FIfaT IR Fafaf@a gt Fr 3R ST |

5« I

= -

.
e

0 s 10 15
Memory size in G8 / W51 Jre (S 3N

Smartphone Mode! / THTZEN

(142) Which two models have the same memory size?

ohaT T ATSEl T ALY JTHR AT g ?

SSCCGL20AUG-S2 : 72

(@) Eand C (b) Band D
(d) A andE

(c)Dand A

(143) Even if memory of model C was doubled it
would be lesser (in GB) than that of model A by?
&l €1 IS C o AR ot Qg fovam 1w, fohe shr 78
Alsel A FY JoIT H forctely ot (ST 31 ) giofr 2
SSCCGL20AUG-S2 :73
(@) 8 (b) 12 (4

(d) 16

(144) Even if memory of model D was halved it would
be greater (in %) than that of model B by?
7o 1 Arse D b AARY &t 3mer fohar s, e o g
Hisol B o Jofell & fehctel 38R (% # g1t 2
SSCCGL20AUG-S2: 74
(a) 300 (b) 400 ()75

(d) 50

(145) If price of model E is increased by Rs 12,000 and
its memory is doubled the sales remain unchanged.
This implies that people are willing to pay Rs

per extra GB of memory space.

ITE ATSH E T Hed 12,000 T 96 ST 3R gHhI AARY &1
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BRI &Y e ST A fghy 3 s aface g S ¥ |
g 378 ¢ o iter gy Shrelt o arfafea A eaaw &
fow %. T 31Tl it o TIT ARG |

SSCCGL20AUG-S2 : 75
(a) 1200 (b) 1500 (c) 1000
(d) 800

Direction (146-149): The bar graph shows the
numbers of mployees working in 6 different
departments (A, B, C, D, E, F) of a certain mpany. Study
the diagram and answer the following questions.

IR ATH H T HYsiT & 6 et TFHTN (A, B, C, D, E, F)
¥ PR HHEATRE B TEAT G2l T ¥ 3Hfy BT
Jreae ST AR A BT 1w geat & 3R S |

30

5

wiefra & wom

Numberof employees /

15
10
s 5
. - ;
L] C 0 4 13
Department / st

(146) Which Department has the second highest
number of employees?

ey Tas1TaT ¥ @ TR oX T 31Tk shafami?

SSCCGL22AUG-S3 : 72

(a) E (b) A ©D
(d)F

(147) If 5 employees are transferred from department
A to departmment F, then number of employees in
department F would be between those of which two
departments?

Ife 5 AT Y fFer=fasmr A @ RomeT F &
TATATARS foRam ST, At fasmer F & Tu=iaRa fFar
ST, A &t fa#meT dr JEar & 7Ly gl
SSCCGL22AUG-S3 : 73

(@)Band C/B 3R C (byAand E/A
3IRE

(BandD/B3RD (d)CandE/C
3IRE

(148) If departments F and D are merged to create a
new department G, then which department will have
the least number of employees?

Tfe; et F 3R D &l Uk 7337 fa#HmeT G a1 & farw

AT ST &, O 98 FF FAIRT R fng fFamer &
ghar?
SSCCGL22AUG-S3 : 74
(@) G (b) F () D
d)B

(149) If the average salary of these employees is Rs
8,000, then how much was the company\'s expense (in
Rs. Lakhs) towards salaries?

Te SoT HATTRAT T AT dceT 8,000 F &, AT adT &
9fa FYAT T T (ATET & H) ThcT=TT gram?
SSCCGL22AUG-S3 : 75
(a) 4.86 (b) 5.12 (c) 3.24

(d) 5.88

Direction (150-153):
The bar graph shows box office collections (in crores) of 6
movies (A, B, C, D, E, F). Study the diagram and answer the
following questions.

IR 1S 6 fBeHi (A, B, C, D, E, F) @ dia9 b IR HHS @S]
#) quilar 1 3 ARG BT ey B R Refafaa usi &1 3R

gl
200
150
100
I ’o
L] E
| )|
A B C D 1 3

Movies / e

g
:
¢
;

3
&
&
i
i
S
:
&

Which movie grossed the second highest box office
collections?

IieFg AR W T 3116 FATS I arell hear T A
G TR W ieT A o A
SSCCGL23AUG-S1 : 72
(@E (b) C (©B
d)D

(1517) By what percent collections of movie D were
lower than that of movie B ?

oea D T AT s B &I Jofell & fohctalt ufcerd &a
of?
SSCCGL23AUG-S1: 73
(a) 66.7 (b) 40 (c) 20
(d) 60
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(152) Collection of movie C is equal to the combined
collections of which movies?

foer C Y TS fonet el BT T HATS & S 87
SSCCGL23AUG-S1: 74
(@ F, AandD/F, A3RD
D 3RF

()Band D/B 3R D
B3R F

(b) B, D and F/ B,

(d)A Band F/A,

(153) If the producer gets 60% of the box office
collections, how much (in crores) did the producer of
the movies A and E get?

fe; fTT Y o7 3T o g HATS HT 60% T
gTed giar &, A e A 3R E 3 fATar &1 fhael wars
(T ) §$?
SSCCGL23AUG-S1: 75
(@) 120 (b) 60 (c) 180

(d) 300

Direction (154-157)-The pie chart shows the shares
of 6 partners in a certain company. Study the diagram
and answer the following questions.

q1$ 91 v AfRad F9elt & 6 FEER & AR F g@ar
¢ 3@ F1 ey AT 3R et weat & 3w
&S

(154) Which partner has the lowest share?

el TG 1 W) S Ry &7

SSCCGL22AUG-S1:72

(@ C (b)B (oD
(d)F

(155) Share of E is equal to the combined shares of
E &7 A fahetah Egehet AR & SRTaR 87
SSCCGL22AUG-S1:73
(@)F,Aand B/F, A 3B
c3kB

(b) D,Cand B/ D,
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(c)A Band C/A B3iRC
C3iRD

(dyF,Cand D /F,

(156) Ratio of shares of E and B to those of A, C, D and
Fis
E 3iR B o SRRT &1 A,C,D 3R F & &1y 37]9Td &
SSCCGL22AUG-S1: 74
(@1:2 (b)2:1 (©1:1

(d)y1:

(157) If the company earns Rs 20 lakh profit, and
decides to distribute half of it to its shareholders, how
much does D (in Rs) get?

i Ueh ShusiY 20 &. oI oITeT AT 8, 3T 3797
IR ol T M T at fadaRa et 1 el
FIAT §,a D & et (3. #) Aem?
SSCCGL22AUG-S1 : 75

(a) 15,00,0 00 (b) 3,00,000

(c) 30000 (d) 1,50,0 00

Direction (158-161) : The line graph shows the
number of work visas issued by a country in each year
from 2011 to 2016. Study the diagram and answer the
following questions.

W 3@ 7 a9 2011 H 2016 T T & GIRT ST T
YT I HEAT T G2ATAT 1T & | HRG FT HEITA HIford
3R e et & I QT

s e ot 1
- B EEEEE

2013 2014 2015 2016

Year J ¢

(158) Number of work visas issued were more than
those issued in the previous years in how many years?
forctet af 7 S forw aTw o o3t i wear Ao asf
3 T 3 317 o
SSCCGL23AUG-S2 : 72
(@1 (b) 3 (04

(d)2

(159) Number of work visas issued in 2016 were lower
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(in %) than the previous year by?

2016 & ST fFT 31T gos A3 S TEaT S auf Hr
JoIaTT 3 TohcTaly T (%#) &r?
SSCCGL23AUG-S2 : 73
(a) 20 (b) 100 (c) 50
(d) 25

(160) What is the total number of visas issued from
2012 to 20157
2012 F IR 2015 T Fref fohelet AT STRY §T?2
SSCCGL23AUG-S2:74
(a) 13000 (b) 18000 (c) 16000

(d) 7000

(161) If 10% of people who are issued work visas do
not use the visas then how many people from 2011 to
2016 have used the visas?

Ife; S farw arw a3t 7 & 10% SIS U S &t
3T 6T A &, af 2011 & 2016 e Fohctet alait o
AT T 3TN fHAT R?

SSCCGL23AUG-S2 : 75

(a) 19800 (b) 17800
(d) 18900

Direction (162-165) : the pie chart shows the
breakup in percentages of the various expenses of a
company. Study the digram and answer the following
question.

g TS TTE 9! & (A8t Tl Jiaerd [T 7
Z2TaT & | 3R &7 371eae Y 3R Aeafaf@a ueat &

3G |

Which is the second biggest expense of the company?

HUAT T GERT T 37 Tl 47 87
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SSCCGL20AUG-S3 : 72
(a) Raw materials h=dT HATel (b)

Salaries adsT
(c) Transport gRagsT
forstelr

(d) Electricity

(163) The ratio of company's expenditure on Raw
material and Transport to Salaries is:

= ATl 3R aRagT X [ SITeY arel 9T & T T
35 dcfell  3HTIT &:
SSCCGL20AUG-S3:73
@2:1 (b)y1:1 (©1:2
(d)3:1

(164) The company\'s expenditure on interest is
greater than expenditure on rent by
HYeAT T AT W T fRIT | ol et arel @I &
IEGGIREE RS
SSCCGL20AUG-S3 : 74
(a) 100% (b) 50% (c) 200%

(d) 150%

(165) If the total expenses of the company are Rs 50
crores, the total expenditure (in Rs crores) on
Transport and Electricity is:

319 &Yall T el T Rs. 50 IS &, Al SHAT TRage
3R FSTell W el 577 (3 05 A) &
SSCCGL20AUG-S3 : 75
@75 (b) 12.5 (©) 20

(d) 10
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Solution

Answer Ke M

1 Icl2 Ic|3 Profit for any year 7=1600-
Tax on y7=360%x33/100=118.8

11 |D|12 |C|13

16 |C[17 |B|18
21 |Aj22 |A]23
26 |C|27 |B|28
31 |A|32 |B|33
36 |C|37 |C|38
41 |Bj42 |C}43
46 |Cl47 |C|48
51 [A[52 [D[53
56 [A[57 [C[58
61 |A|62 |A|63
66 [C|67 [B[68
71 |A|72 |C|73
76 |D|77 |D|78
81 |A|82 |C|83
86 |D|87 |D|88
91 |A|92 |B|93
96 |D|97 |A|98

)

y2, profit=110-
850=250
Tax=250x22%=55

Profit after tax=250-
55=195

y6, profit=1500-
1200=300

tax=300%30%=90

profit after tax=300-
90=210

y8, profit= 1800-
1400=450

tax=
450x15%=67.5

profit after tax=450-67.5=382.5

therefore option 3 is true.

(3) Values of yearly
profits
Y1=200, y2=250, y3=200, y4=250, y5=300, y6=300,

y7=360, y8=
450
Hence 5 different values are there.

(4) as solved in question 73 find out the profit after
tax and
then add the values.

O0|m|[>[>P|OWO(O(®|[O(®|[C(CO[>|O|/>|O[>P|OP[B[>PO[R[A[>IA|[>|N]|C]|O
IR R AR A A R A Y A A N A D N D N Y A A P A e Y
Uunu>>nw>>n>>w>>www>>>wn>n>nwuw>2
PO (w0 |m[Aa[w[O[0|U|0(O[n[m[0[> AW [>[O[U[W|U|0[W[®[®m[O[0|[g[Nn
AP > m|m[A[>[N][O|m [P O[> [m|[O][m|[Wm|[O[>[>[m[m|[o/ao[dn[A[0[0|w |w|[>[® ][>

®)

Total trade in year 3 = 1183 crore dollars
Total export in year 3

=1183/7 x 4 = 676

Total import in year 3

= 1183/7 x 3 = 507

Required difference = 676 — 507 = 169
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Or Country3
=1183/7 (4 - 3) 15% of 200 = 30
= 1183/7 = 169 crore dollars 30 x 9900
=297000

(6)
Let total trade in year 2 and year 4 = x (13)

Export in year 4 = 5/13 x x Required = (122 - 65)/65 x 100
5x/13 = 315 = 87.69%

X =13 x 63 =819

Import in year 2 = 819/18 x 7
= 318.5 crore dollars (15)

| — 295/122
(7) II—211/123
Export of year 1 = 5700/19 x 10 [ >l

= 3000
Export of year 5 = 5700/2x25 x12 (16)

= 1368 % increase for Bank 1 = (352 — 265)/265 x 100
Required difference = 3000 — 1368 =32.83%

= 1632 crore dollars % increase for Bank 2 = (122 — 65)/65 x 100

= 87.69%

(8) % increase for Bank 3 = (211 = 138)/138 x 100
Export in year 1 = 3800/19 x 10 = 52.89%

= 2000 % increase for Bank 4 = (157 — 109)/109 x 100
Export in year 2 = 3600/18 x 11 = 44.03%

= 2200 % increase for Bank 5 = (158 — 80)/80 x 100
Export in year 3 = 2800/7 x 4 =97.5%

= 1600

Export in year 4 = 3900/13 x 5
= 1500 (7)

Export in year 5 = 5000/25 x 12 Only C has less no. of taxis than D and more no. of
= 2400 taxis than A with 35 taxis.

Import in year 1 = 3800 — 2000 = 1800
Import in year 2 = 3600 — 2200 = 1400 (18)

Import in year 3 = 2800 — 1600 = 1200 D=75+30=105
Import in year 4 = 3900 — 1500 = 2400 C=35

Import in year 5 = 5000 - 2400 = 2600 D-C=105-35=70
Average export = 1/5 x 9700 = 1940
Average import = 1/5 x 9400 = 1880 (19)

Required difference = 1940 — 1880 = 60 crore dollars A+C=25+35=60
D=75

9) Difference=75-60=15
Diff=24-6=18%
18%=200 =36 (20)

Total taxis=25+120+35+75+95+10=360
(10) Total cost=360*100*3=108000.

7% of 200 =14
14 x 2260=31640 (21

200 - 100 = 100
)
17% of 200=34 (22)

34 x 4840=164560 250 + 100 + 400 = 700

(12) (23)
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400 + 250 x == = 450
100

(25)

Highest mark in mathematics = 475
English = 407

Science = 471

Hindi = 439

(26)

Max marks in all the 4 subjects
Student 1 = 354

Student 2 = 356

Student 2 = 379

Student 4 = 338

Student 5 = 365

(27)

According to the given condition
The marks = Student 1 = 373
Student 2 = 382

Student 3 = 390

Student 4 = 376

Student 5 = 379

(28)

407

Req. percentage = 45

x 100 = 92.719

o

(29)

Surplus of country A of year 2013 and 2014 taken
together

= (1671 - 1641) + 1103 - 1002)

=30 + 101 = 131 thousand quintals

(30)
Stock of country C at end of 4-year period
= [7835 + 2035 + 1821 + 1937 + 3014] — [2247 +

2018 + 2563+2988]

Free Study Material Join: Telegram.me/ExamsCart

= 6826 thousand quintals

31
Required difference

_ (2035+1821+1937 +3014) (2247+2018+2563+2988 )

4 4
(8807 9816

- (T B T)

= 2201.75 - 2454

= 252.25 thousand quintals

(32)

Surplus of country B over the 4 years

= (1881 - 1798) + (2067 — 2389) + (1328 - 2063) +
(1578 - 1239)

=83-322-735 + 339 =-635

Surplus of country D over the 4 years.

= (3126 - 2417) + (2987 - 2917) + (2143 - 3188) +
(4126 - 3563)

=297

~ surplus of D surplus of B.

(34)
Profit=20+30-10+5+15+10=70

(35)

Profit in 2011=20
Profit in 2012=30
Increment =33.33%

(36)
In 2015 reserve=150
In 2012 reserve= 150-(30-10+5+15)=110

(37)

Difference in hour of algebra and modern maths
=(9-4)=5%

5% of 500=25

(38)

Given that

6% of geometry = 36 hour

1% of hour = 6 hour

So, Va

Remaining ¥ hour arithmetic

Time taken to teach topic of ratio =%

(39)

Given that

Data Interpretation & modern maths =8 + 4 = 12%
12% of hour = 96
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1% of hour = 8 hour
So, number system & geometry = 23 + 6 = 29%
Req. hour = 29 x 8 = 232

(40)

Except arithmetic 10% = 10% of 54 = 5.4
So = 54%

So, required angle =/, x5.4 = 19.44

(41

Given then,

Literate people in city 4
= (600000/100) x 63

= 378000

(42)

220000 B85
R fies = e Xt
eq. ratlo = o000 =8
q Zgoooo 5 ﬁ %3
iaoo
1190 595

695 348

(43)
Total population of city 5

5921 -
[¥x1a

—’—]K'IDD

92

= 644000

(44)

City 1 = 80% of 250000 = 200000

City 2 = 85% of 200000 = 170000

City 3 = 78% of 220000 = 171600

City 4 = 63% of 300000 = 189000

City 5 = 92% of 150000 = 138000

City 6 = 58% of 400000 = 232000

So, city 6 > city 1 > City 4 > City 3 > City 2 > City 5

(45)

Increase in sale from 2009 to 2012 in hatchback
= 800 - 500

=300

Increase in sale from 2009 to 2012 in sedan
=625 -450

=175

Increase in sale from 2009 to 2012 in SUV
=750- 150

= 600

So, SUV has highest increase.

(46)
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Annual growth rate for SUV
= =2 x 100 =133.33%

130x3

(47)

Total sale of sedan = 450 + 500 + 575 + 625 = 2150
Total sale of SUV = 150 + 250 + 400 + 750 = 1550
Required ratio = 259/,s5 = 4/,

(48)
Growth Rate for Hatchback in 2012 over 2011
2800 — &00
=———— x 100
650
== x 100
&50
= 23% (Approx)
Growth Rate for sedan in 2012 over 2011
625 =575

=—————x 100

575
= 9% (Approx)
Growth Rate for SUV in 2012 over 2011

750 — 400
=———x 100
400

= 87.5% (Approx)
Total sale in 2013

123 109 187.5
=—x 800 + — x 625 +
100 100

100

= 984 + 681.25 + 1406.25
= 3069 (Approx)

x 750

(49)

MBBS, who have filled the from
From XYZ university

=1/ X 7/, x 40000000

= 1224000

(50)

Required difference

=1/ x 40000000 — ¢/:0 x 35000000
=4050000

(51

B. Arch candidates who did not gave exam

= 9/ X 18/10 X 40000000 — /10 X 1/, x 35000000
= 995000

(52)
Number of absentees for
B. tech = 18 x 400000 - 19 x 350000 = 550000
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B. com =21 x 400000 - 22 x 350000 = 700000
M.B.B.S. = 17 x 400000 — 14 x 350000 = 700000

B.A. = 20 x 400000 - 22 x 350000 = 300000

M.B.A. = 8 x 400000 — 9 x 350000 = 50000

Others = 16 x 400000 — 14 x 350000 = 1500000
Therefore, highest number of absentees is for M.B.B.S.

(53)

Required average

=300 + 250 + 272 + 162 + 82 + 104 + 120/7
=184.28

(54)

Required ratio = s
2
822

30a
137

31

(55)
Required Percent= =2/, x 100
=79.66

(56)

Bottom two countries after arranging in ascending in
ascending order = Nepal and Thailand

New per acre yield off all countries

= (82 + 104) =/ + ™/ (1104)

=186 x 1.2+ 1.1 x 1104

(57)

Time taken in point and frame
= 35/100 x 300

= 105 hours

(58)

Time taken in glass
=192/6 x 8
=32x8

= 256 hours

(59)

Difference in time taken by frame and glass
= (127.5/40+11) x (22 - 8)

=127.5/51 x 14

= 35 hours

(60)
Total time for quality check = 15%
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There are 6 processes

So,

Total time for any one process in quality check
= 15%/6

=25%

New angle for seats and glass

= (6 + 8 -2.5-2.5)%/x = 100/360

9 x 18 = 5x

X =324

(61)
Required percentage increase

” h=4.h ” 100
4.5
> x 100

4.5

11
11.11

(62)
Total sale in 2014 = 4+4.5+6+7.5=22

Total sale in 2016 = 7.5+6+7.5+9.5=305

Required percentage increase
x 100

_305-22
22

=25 x 100

22

= 38.63%

(63)
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Percentage increase of sale in 2016 of Brand 1
7.5 — 55
e L 100

= = x 100
= 36.36%
Percentage increase of sale in 2016 of Brand 2
6—5
s 100
= 20%
Percentage increase of sale in 2016 of Brand 3
= 2= x 100
6.5
=15.38%

Percentage increase of sale in 2016 of Brand 4
95— 85

= = 100
g

=]

= 11.76%
Total sale in 2017

=(136'55x?.5+£><6'— L e MxQ.S) %1
100 100 100 100

= 10227 + 7200 + 8653.5 + 10617.2

= 36698

35698
Average sales =

=8175

(64)

Aerage sale in 2014=22/4
Aerage sale in 2015=25.5/4
Aerage sale in 2016=30.5/4
Brand 4 will have maximum stars.

(65)

Required average
152+35+14+138+34+40+35+150+63+68+112+73+1]

= 1110/,
— 8539285

13

(66)
maximum in 8 am to 9 am

(67)

Since the approximate average is 85

Therefore, number of parked cars less than average is
for 8 hours.

(68)
Since total number of cars = 1110
~ total = 1110 x 50 = Rs. 55500

(70)
Amount (in billion USD) = 50 - 30 = 20

71
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Required ratio = 90/30+70+50 = 3/5

(72)

Let GDP 10 years before be x

~ xx 150/100 = (30 + 100 +70 + 20 + 90 + 50)
= x = 240

(73)
Audience in screen 1, 2™ show = 300

Audience in screen 1, 3™ show = 600

Increase % = 222=3% . 100 = 100%

(74)

Audience in screen 3, 2~ show = 700
Audience in screen 1, 2~ show = 300
Required No. of Audience = 700 — 300 = 400

(75)
Total audience of 2™ show = 300 + 450 + 700 = 1450
Total audience of 3™ show = 600 + 400 + 750 = 1750

Required increase % = 17201230 % 100 = 20.69%
1450

(76)

Revenue of screen 1 = (500 + 300 + 600) x 350 = Rs.
4,90,000

Revenue of screen 2 = (600 + 450 + 400) x 300 = Rs.
4,35,000

Revenue of screen 3 = (650 + 700 +750) x 250 = Rs.
5,25,000

-~ Revenue of screen 3 in maximum.

(82)
Required no. of tickets = (6 - 5) = 1
-~ Required percentage = 1/5 x 100 = 20%

(83)
Required ratio = 5+3/6 = 8/6 = 4/3

(84)

Required revenue = 7000 x (1 - 6) x 1000
= 350,00,000

= 35 million

(85)

2012, 2014, 2015 had admissions greater than that of
the previous year.

(86)
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Required no. of students = 100 + 150 + 150 + 250 +
350
= 1000

87)
Required % = 250-150/150 x 100
= 66.67%

(88)

Total fees = (100 + 150 + 150) x 10000 + (250 + 350
+ 300) x 1200

= 40,00,000 + 1,08,00,000

= 1.48 crore

(90)
Required % = 0.9 — 0.8/0.8 x 100
=12.5%

N

Total no. of cars (in millions) = 2.7
Now, % of petrol cars = 65%

~ Required numbers = 65/100 x 2.7
= 1.755

(92)

Taxon 1 car = 2.5% x 30,000

= 750 million

Tax on 2.7 million cars = 750 x 2.7
= 2.03 billion (approx

(93)
For country C, inflation in 2016 is lower than that in
2015.

(94)
Required % = 5-2/2 x 100 = 150%

(95)
Required ratio = 8/4 =2 : 1

(96)

Price index of country D in the end of 2016 = 200 x
102/100 x 105/100

=214.2

(98)
Required % = 525 - 500/500 x 100
=5%

(99)

Required amount = (330 + 525 + 120 + 100) — (300 +
500 + 100 + 50)

= 125 lakh = 1.25 crores
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(100)

Cumulative cost of production in 2015 and 2016 = 10
+ 10 = 20 cr = 2000 lac

Cumulative revenue in 2015 and 2016 = 300 + 330 +
500 +525 + 100 + 120 + 50 + 100 = 2025 lac

+ Cumulative profit = (2025 - 2000) lacs

=25 lacs

(101)

1
cosec = —+ x
4x

1+4x?
cosec B

1 + cot? 8 = cosec’ 6
a2
cotB = (HM) -1

4x
o 1+H16x*+2xdx—16x7°
16x2
16x*—8x%+1

16x2
_ {4x*=1)%
42

Adxi—1
cotf =&
4x

Taking positive value
1+4x* dx*—1

cosec B + cot B= +
4x d4x

_ 8x*
dx

= 2¥%

Taking negative value
14+4x* 4x*-1

(102)

Required percent = 24-8/8 x100
=16/8 x 100

= 200%

(103)
Required difference = 1875/100 (24 - 16)
=150
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(104)

Let sectorial angle for runs made ¢
x 360

32~ 100
x 18

= E
_ 18x32
g

= 115.2

(105)

Taking option (a)

Runs scored against each team is in integral value
when total runs scored is 25.

(106)

Required runs = 12% of 1600
=12/100 x 1600

=192

(107)

Difference of % runs against England & Pakistan = 9%
Which is same as in case against Australia & New
Zealand

(108)

Difference of % = 25% - 9%
=16%

~ Required runs = 16/100 x 1600
=256

(109)

Total % runs against Australia & Zealand = 41%
And,

Total % runs against Sri Lanka & Pakistan = 21%
Difference 20%

Which is = 20/100 x 360° = 72°

(114)
As seen from pie- chart = B = 30%

(115)

A country = 25%

= 90% 360°

360°/90 x 25 = 4 x 25 = 100°

(116)
Reg. percent = 30-10/10 x 100 = 20/10 x 100 = 200
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(117)
. . (total no.of studentx15000)
Required ratio = S

1350,000 3

00000 2

(118)
Required ratio = 150: 200 = 3:4

(119)
Required difference
= 400/100 x 1000 — 150/100 x 1000 = 2500

(120)
Required % = 200/200 x 100 = 100%

(121)
Required population
= 50/100 x 2000000 = 10,00,000

(122)
From pie-chart, F is winner if A dedared disqualified,

(123)

From the pie-chart,

Winning candidate = (27 - 21) = 6%
So, 1% = 1000

The value of 6% = 6000

(124)

According to condition,
Fgets-21+8=29%%

So, A gets 27%

So, F would have won by 2% = 2000 votes

(125)

Attendance = 60%

Thatis equalto = (27 + 11 +6 + 9 + 16 + 21)
Total votes list candidates = 90/60 x 100 = 150%
= 150000

(126)

No. of tigers in WLS D = 10

No. of tigers in WLS F = 13

~ No. of tigers in WLS B is more than that in D but less
than F.

127)
Required no. of tigers = (29 + 9) + 11 + 5 + 10 + (22 -
3) +13 =96
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(128)
Required ratio =

(10+5) 15

(129)

Total no. of tigers in all sanctuaries
=29+11+5+10+22+13 =90

Total of tigers in all sanctuaries before 20 years
=90 x 100/120 x 100/125

=60

(142)
From the graph A& D

(143)
If double of memory model C=2 x4 =8
The required = 16 -8 = 8

(144)
If D model memory halved = 16/2 = 8 than
Required % = (8-2)/2 x 100 = 300

(145)

If model E increased by 12000 & mm. Double the
sales. Unchanged

=12000/8 = 1500

(146)

Descending order of departments according to no. of

employees

A>E>C>B>D>F

~ Department E has the second highest no. of
employees

(22+13) 35 _

73
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(147)

Net employees in DepartmentF =3 +5=28

& Net employees in department A = 25 -5 = 20
~ B < F < C (According to no. of employees)

(148)
No. of Employees in department G=5+ 3 =8

Now, order will become
A=E=C>G=B

No. of Employees
= Department B has the least no. of employees

(149)

Company's total expense towards salaries
=(5+6+ 10+ 5+ 15+ 3) x 8000

= Rs 512000

= 5.12 lakh

(154)
C has the lowest share i.e. 5%

(155)

Share of E = 40%

Shareof (F+ A+ B) =10+ 20 + 10 = 40%
~ Share of E = share of (F + A + B)

(156)

Required ratio

_ share (E+B) . 40+10

" share (A+C+D+F) 20+ 5+15+10

(157)
D's share = 15% of 10 lakh
= Rs. 1,50,000
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